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IE {3 K % ouT I N TOTAL] HDCP NET
& | HEEX 42 41 83 9.6 73.4
L EE: 40 41 81 7.2 73.8
3 fz| IRH FHE 41 38 79 4.8 74.2
4 fz| YR Bk 38 40 78 2.4 75.6
5 ] HOEE 40 43 83 7.2 75.8
B-B| BHXZ 59 63 122 36 86
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IE i K % ouT I N TOTAL] HDCP NET
& | ZkiEha 44 42 86 14.4 71.6
e S 43 39 82 9.6 72.4
R B SE 42 46 88 15.6 72.4
4 fz| N FHEA 37 38 75 2.4 72.6
5 | Rk RE 45 50 95 21.6 73.4
B-B| A& 57 57 114 30 84
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IE i K % ouT I N TOTAL] HDCP NET
N BGEESD 40 38 78 6 72
mEp| Al BA 39 42 81 8.4 72.6
3 fi| #@%K BRI 46 48 94 20.4 73.6
4 1| SHE=EH 42 50 92 18 74
5 fiz| AIEF #F 42 41 83 8.4 74.6
B-B| WMA#H 55 51 106 24 82
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IE {3 K % ouT I N TOTAL] HDCP NET
& | BH EbF 51 48 99 26.4 72.6
e G 43 38 81 7.2 73.8
3 fiz| E 43 44 87 13.2 73.8
B-B| #H HA 49 43 92 12 80




